    



                UST/AT/4NM4  (YNSAA)

B.Sc. DEGREE EXAMINATION, NOVEMBER 2015.
II YEAR — IV SEMESTER

Allied II –– NUMERICAL METHODS
Time : 3 hours
    Max. Marks : 60
SECTION A — (10 × 1 = 10 marks)

Answer any TEN questions.

1. Prove that E-1= 1-V.

2. Define interpolation.

3. Write Newton’s divided difference formula.

4. State Sterling’s formula for Interpolation.
5. What is a central difference operator?
6. Write Bessel’s formula.

7. Define inverse Interpolation.

8. What is Central difference table?
9. Which method is called as back substitution Method.

10. Write Newton’s backward difference formula.

11. State Weddle’s rule for numerical integration.

12. Write the formula for Simpson’s one-third rule.

SECTION B — (5 ×4 = 20 marks)

Answer any FIVE questions.

13. Solve the following systems of equations by Gauss’s elimination method.


5x1 - x2 - & x3 = 142


x1 - 3x2 - x3 = -30


2x1 - x2 - 3x3 = -5
14. Given that f(0) = 8, f(1)=68 and f(5) = 123 construct a divided difference table. Using the table determine the value of f(2).
15. Prove that the divided difference operator 
[image: image1.wmf]    is linear.

16. Find the parabola of the form y=ax2+bx+c passing through the points (0,0), (1,1) and (2,20) using Lagrange’s formula.

17. Apply Weddle’s rule to evaluate the following integral 
[image: image2.wmf].
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18. Given below are the marks obtained by 200 students of a University in the 

      Business Statistics paper:

	Marks
	40-50
	50-60
	60-70
	70-80
	80-90

	No. of Students
	32
	42
	55
	40
	31


19. Interpolate the number of Students who obtained less than 65 marks using Newton’s        

      formula from the following table find f(34) using Everett’s formula

	     X
	20
	25
	30
	35
	40

	Y=f(x)
	11.4699
	12.7834
	13.7648
	14.4982
	15.0463



SECTION C — (3 × 10 = 30 marks)

      Answer any THREE questions.

20. From the following table of half yearly premium for policies maturing at different ages,    

  
estimate the premium for policies maturing at age 46 and 63.

	 Age          x   :     45           50         55             60           65  

	 Premium   y : 114.84      96.16     83.32       74.48       68.48


21.       Solve x3+1.2x2-4x-4.8=0 by bisection method 

22.       Solve the system of equation.

x+y+54z=110

27x+6y-z=85


   6x+15y+2z=72

 Using Gauss-seidal iteration method.
23.     Use Lagrange’s interpolation formula to find the value of u4 of a function ux given           

          that u1 = 10, u2 = 15, u5 = 42.

24.     Derive Simpson’s three-eight rule.
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